[Aufgaben zu Aquivalenzumformungen (1) ]

Losungen
Aufgabe 1
a) e)
37 2
x = 4 28x-21 = 0 |+21
b) 28x = 21 [+28
-2x-3 = 1 |+3 . = 3
—2x = |+(-2) 4
x =-2 f)
x =-3x—1 ‘+3x
c)
4 14 4x =-1 |+4
x—=— = — |-3
3 3 x =_1
3x—4 = 14 | +4 4
3x = 18 |+3 9)
X = 6 —§x+g ——x—E | -4
27 4 4
d) - —6x+9  =—4x-5 | -9
S5x=3 = 0 | -3 —6x =—4x—14 | +4x
15x—5 = 0 | +5 —2x  =-14 |+(~2)
15x = 5 |+15 x =7
1 h)
X = 3 3x+2 = 3x+3 |-3x
2 = 3 V4
= Es gibt keine Lésung
Aufgabe 2
a)
3(-5-8x|-3(—5x+1) =-2(5x—8) | Klammern auflésen
—15-24x+15x—3 =-10x+16 | zusammenfassen
-9x—18 =-10x+16 | +10x+18
x = 34
4(3x—3)-3(6x—8) =-2-5x)+3(8+2x] | Klammern aufldsen
12x—12—18x+24 = 2+5x+24+6x | zusammenfassen
—6x+12 = 11x+26 | —11x-12
-17x = 14 | +(-17]
14
X =—-——
17
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c)

—3(1+9x]-3(-6—-10x :_2(_9X_2)+2(_£2X+1) | Klammern auflésen
—3-27x+18+30x = 18x+4—17x+2 | zusammenfassen
3x+15 = x+6 | —x-15
2x =-9 | +2
x =_2
2
d)
—(—12—X—2) :—g(7x+8)+4(—%+8x) | Klammern auflésen
1—2X+2 :—357X—20—6+32x | zusammenfassen
%x+2 = 22—9x—26 ‘ —22—9x—2
—~14x =-28 | +(—14)
x = 2
e)

—3-6x  =[-3+(-2-2x]| | innere Klammern auflésen

-3-6x =[-3-2-2x] | Klammern auflésen

—3-6x = 3+2+2x | zusammenfassen

—6x—3 = 2x+5 | —2x+3

—8x = 8 | +(-8]
x =-1
f)

—5[-4(—6-3x)-2]+3(-3-x] =-2[5-4(-7x+3)] | innere Klammern auflésen
~5[24+12x-2]-9-3x  =-2[5+28x—12] | Klammern auflésen
—120—60x+10—9—-3x = —10—56x+24 | zusammenfassen

—63x—119 =-56x+14 | +56x+119
~7x = 133 | +(-7)
x =-19
9)

2(-3-5x) = 3[5x-3(-7x-3]] | innere Klammern auflésen

—6-10x = 3[5x+21x+9] | Klammern auflésen

—6-10x = 15x+63x+27 | zusammenfassen

—10x—6 = 78x+27 | —78x+6

—-88x = 33 | +(-88)
x =_3
8
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h)

—(—2x+9)
2x—-9
2x—9
2x—9

27 x
X
Aufgabe 3
a)
Z+5 ==—§-
X X
7+5x =-8
5x =-15
X -3
b)
3,6 - 9.6
X X
3+6x =-9-6
3+6x =-15
6x =-18
x =-3
c)
5—4x — _6x
2
5—4x —12x
8x =-5
x =-2
8

—5(—x+7)+2[~5(-4+3 x| 4]
5x—35+2[20—15x—4]

| innere Klammern auflésen
| Klammern auflésen

= 5x—35+40—-30x—8 | zusammenfassen
=—25x-3 | +25x+9
= 6 | +27
- 2
9
d)
|w X = 1_:'22X—7x |-2
| -7 2x = 1-2x—14x | zusammen-
| +5 | fassen
2x =—16x+1 | +16x
18x = 1 | +18
[ N
18
| zusammen- )
| fassen 6-3x _ 2wl | ¢
| -3 3 2
| +6 —12+46x =—6x—3 | +6x+12
12x = 9 | +12
X f— E
| -2 4
f)
| +12x-5 3+x _  6x+1 8 10x
| +8 =57 = 75 -4
40x—6-2x = 12x+2+8— 10 | zusammen-
| fassen
38x—6 = 2x+10 | —2x+6
36x = 16 | =36
4
X = —
9
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Aufgabe 4
a)

2x  x=7 x+2
x—2 Xx—6 x—3
2x(x—3)(x—6)—(x—7)(x—2)(x—3)—(x+2)(x—2)(x—6)
2(x2—3 x)(x—6)—(x2—9x+14)(x—3)—(x2—4)(x—6)
2( 3 9x2+18x)— (= 12:2+41x—42)— (36 P4 x+24)
2x>—18x7+36 x— X +12X°— 41 x+42— X +6 X*+4 x—24

—x+18
—X
X

OO O O o o

—18
18

| - (x=2)lx=6](x-3]

| zusammenfassen
| —18

| +(-1]

b)
2(X+3)_x+5 _ X—5 ‘-(x+1)(x—4)x
x+1l x—4 X
2(x+3)x(x—4)—(x+5)(x+1)x = (x—5)(x+1)(x—4)
2(x2+3x)(x—4)—(x2+6x+5)x = (x2—4x—5)(x—4)
2(x3—x2—12x)—(x3+6x2+5x) = X>—8x%+11x+20
2x3-2x*—24x-x3—6x*~5x = x3—8x*+11x+20 | zusammenfassen
B-8x2-29x = X—8x*+11x+20 | +—x3+8x3—11x
—40x = 20 | +(-40)
__1
X7
c)
4x+20 10x—30  _ 4x+24 | ausklammern
x+8 X2+16X+64 x+8
4x+20 10x—30 4 x+24 | -(X+8)(X+8)
x+8 (x+8)(x+8) x+8
(4x+20)(x+8]—(10x—30] = (4x+24](x+8)
—10x+30+4x*+52x+160 = 4x°+56x+192 | zusammenfassen
4x2442x+190 = A4x*+56x+192 | —4x>—56x—190
—14x = 2 | +(—14)
« =_1
-7
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82X_8 + 28 - 8 | ausklammern
x“+6x x°—36 X
8x—8 8 _ 8 i
x(x+6)+(x—6)(x+6) X | X(X 6)(X+6)
d) (8x—8)(x—6)+8x = 8(x—6)(x+6)
8x°—56x+48+8x = 8x>-288 | zusammenfassen
8x*—48x+48 = 8x*-288 | —8x*—48
—48x  =-336 | +(~48)
x =7
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